## Kansas Corporation Commission Oil & Gas Conservation Division

URIGINAL

Form ACO-1
October 2008
Form Must Be Typed

# WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 33235	API No. 15 - 007-23471-0000
Name: Chieftain Oil Co., Inc	Spot Description:
Address 1: PO Box 124	SW_SE_NE_SE_Sec. 4 Twp. 34 S. R. 11 East V West
Address 2:	1490 Feet from North / South Line of Section
City: Kiowa State: KS Zip: 67070 +	Feet from   ☑ East / □ West Line of Section
Contact Person: Ron Molz	Footages Calculated from Nearest Outside Section Corner:
Phone: ( 620 ) 825-4030 <b>RECEIVED</b>	□NE □NW □SE □SW
CONTRACTOR: License # 33902	County:_Barber
Name: Hardt Drilling, LLC JUN 0 2 2010	Lease Name: Sally Well #: 2
Wellsite Geologist: Arden Ratzlaff	Field Name:
Purchaser: American Pipeline KCC WICHITA	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1355 Kelly Bushing: 1365
New Well Re-Entry Workover	Total Depth: 4895 Plug Back Total Depth: 4850
✓ Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: 328 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes V No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set:Feet
Other (Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/ Al+(-Da -6/3/10
<u> </u>	
Operator:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Well Name:       Original Comp. Date:       Original Total Depth:	Chloride content: 10000 ppm Fluid volume: 10000 bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: Haul Off
Plug Back: ————————————————————————————————————	
Commingled Docket No.:	Location of fluid disposal if hauled offsite:
Dual Completion	Operator Name: Molz Oil Co., Inc.
Other (SWD or Enhr.?) Docket No.:	Lease Name: Garner SWD License No.: 6006
12/11/2009 12/22/2009 01/11/2010	Quarter NE Sec. 11 Twp.33 S. R. 10 East West
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Barber Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover or confuside two of this form will be held confidential for a period of 12 months if requitiality in excess of 12 months). One copy of all wireline logs and geologist well BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form	oversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information ested in writing and submitted with the form (see rule 82-3-107 for confidence of the standard with this form. ALL CEMENTING TICKETS MUST in with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulate the are complete and conject to the best of my knowledge.	e oil and gas industry have been fully complied with and the statements herein
Signature: Nat Value	KCC Office Use ONLY
Title: Supervisor Date: 06/01/10	Letter of Confidentiality Received
Subscribed and sworn to before me this day of	If Denied, Yes Date:
	Wireline Log Received
20 <u>10</u> .	Geologist Report Received
Notary Public: Liucuda Lour NOTARY PUBLIC - State of	Kansas UIC Distribution

#### Side Two

Operator Name: Ch	ieftain Oil Co., Inc			Lease	Name: _	Sally	·	Well #: _2		
	34 S. R. <u>11</u>	Eas	t 🗸 West	County	Barb	er				
time tool open and c recovery, and flow ra	how important tops at losed, flowing and shi ites if gas to surface to al geological well site	ut-in pres: est, along	sures, whether s	hut-in press	sure rea	ched static level	, hydrostatic	pressures, bottom	hole temp	perature, fluid
Drill Stem Tests Take			Yes 🔽 No		<b>√</b> l	.og Formatio	on (Top), Dep	th and Datum		Sample
Samples Sent to Ger	•	<b>,</b>	Yes 🗌 No		Nan Heel			Тор 3598		Datum 2230
Cores Taken			Yes ☑ No		Base	Kansas City		4332	-	2967
Electric Log Run (Submit Copy)		✓,	Yes No		Pawi	nee		4442	•	3077
List All E. Logs Dun					Cher	okee		4488	-	3123
List All E. Logs Run: Gamma Ray Dual Ind	duction				Miss	issippian		4509	-	3144
Compensated Neutro Sonic Bond	on Density				Viola	t		4850		3485
Geological					Tota	l Depth		4895	-	3530
		Rep		RECORD conductor, su	✓ N rface, int	ew Used ermediate, product	ion, etc.			
Purpose of String	Size Hole Drilled		ize Casing et (In O.D.)	Weig Lbs./		Setting Depth	Type o			and Percent Additives
Surface	18	13-3/8		24#		328	60/40 Po	630	2% Sa	alt
Production	7-7/8	5-1/2		15.5#		4893 Com		175	2% Sa	alt Gas Block
									<u></u>	
			ADDITIONAL	CEMENTIN	IG / SQI	JEEZE RECORD				,
Purpose: Perforate	Depth Top Bottom	Тур	e of Cement	#Sacks	Used	Type and Percent Additives				
Protect Casing Plug Back TD										
Plug Off Zone										
Shots Per Foot			RD - Bridge Plug					ment Squeeze Reco	rd	<b>5</b> .1
	Specify 4512-4526 45		Each Interval Perf		(Amount and Kind of Material Used) 1000 Gal 7-1/2% Acid					Depth 4512-56
4	4512-4520 45	30-433	0 4340-433	0					4512-56	
		R	ECEIVED		Frac 261000# Sand & 14				14500 BBLS Slick Water	
		JL	JN 0 2 2010	)						
		VO		- 6						
TUBING RECORD:	Size: -7/8	Set At 4600	<del>&gt; V<u>Y</u>IUHH</del>	Packer At:		Liner Run:	Yes 🔽	] No		
	Production, SWD or En		Producing Meth		Flowing	g 🗹 Pumpir	ng G	as Lift Oth	er (Explain,	)
Estimated Production Per 24 Hours	Oil 40	Bbls.	Gas 1	Mcf	Wat	er BI	bls.	Gas-Oil Ratio		Gravity
				IETHOD OF	001151	TION	ī	DDODUCTI	7NI INITE (1)	
	ON OF GAS:		-	IETHOD OF	_			PRODUCTION	ON INTER	VAL.
	Used on Lease		Open Hole	Perf	Dually	Comp. [] Con	nmingled			



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201 FIELD SERVICE TICKET
1718 1089 A

DATE OF JOB	-23-07 bis	STRICT AND	the second second	NEW C		PROD IN	J 🗆 WDW 🗀	CUSTOMER ORDER NO.:	
CUSTOMER	Chiefts	my orl eo		LEASE S	AZZ	4		WELL NO.	
ADDRESS				COUNTY 6	PAKAS	V. Harris	STATE	Production Survey Co.	
CITY		STATE		SERVICE CR	**********	11.30.5	Merte	CSINONE.	ا ا
AUTHORIZED I	<b>3Y</b> .		par in citating	JOB TYPE	·Uu	31/	6125/1	and probably the re-	4 0
EQUIPMEN	20 20 20 20 20 20 20 20 20 20 20 20 20 2	EQUIPMENT#	HAS EQU	JIPMENT#	HRS			ATE AM TIM	
192 3/199	"自己的人物,这一个"我们的人"		order of the test feet			ARRIVED A	11 10 10 11 11 11 11 11 11 11 11 11 11 1	AM 79	0
19431/198	62 1/0		had the language			START OPE	RATION /2 -23	DE AMORE	1
			distribute of the best of the	24.500 A. M. A. T.		FINISH OPE	RATION	AM BY	<b>.</b>
			The state of the s		n de la company	HELEASED			3
				的情報。	學學	MILES FROM	M STATION TO WE	IL 45	ر اور در کو
	CONTR	ACT CONDITIONS: (This c	ontract must be signed	before the job is o	commence	ed or merchandi	se is delivered).		No.
products, and/or su	upplies includes all of	scute this contract as an ag and only those terms and ci	onditions appearing on	the front and back	igned agr of this do	ees and acknow cument. No addi	ieoges mat this pontra tional or substitute term	ct for services, mate ns and/or conditions	sha
become a part of t	nie contract without tr	e written consent of an offic	er of Basic Energy Se	rvices LP.		IGNED:			30 i 1
				a strain	Solitor.	(WELL OWN	ER, OPERATOR, CO	NTRACTOR OR AG	ENT
HEEL NO.	MA	TERIAL, EQUIPMENT A	ND SERVICES USI	<b>s</b> b ( ) ( ) ( )	UNIT	QUANTITY	UNIT PRICE	# AMOUN	<b>f</b> :::
1105	AME C	Administration of the second s		The last second	56	200	中級後 2007年1日報道会 後の発展したの数数 - 最初		20
CP W3	60/40 Po	AND NOT BELLEVILLE AND A STREET	to Kinesh by Salah		SK,	30		760 0	0
CC 103 CC 111	30/4		The second s	Banda de	16	38		152	20
CC 115	ans Blui	6	de esta representa		16	188		968	20
cc129	741-32		drawn northway		16	149	an thirt was one of	1117	30
cr 201	GILSONIT	[25] 清潔 拉拉士	The same of the sa	TANK TANK	16	1,000		670	20
<u>C 704</u>	Kea			Auditern The en	914			2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	0
C 151 C 15\$		Control of	<u> Landels (leanntsan 1984)</u> Langers (1986)	Carlo Aladia Cara billi	SAC.	500	references filosofie and Statements filosofie		20
F 607	240 1	JJ Plo ess	W 3",	4.197.30	24	300		765 0	
F 1251	Ada Fil	shoe Hora	<b>建筑。1980年,</b>	86. JAN 18.	541	SAID TO THE		360 0	
CF 1651	TURBY/3				*	2		7700	0_
F 1901	BAZet			7.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1	52				00
101	12 4 11	y may			771	482	合語は整理を表する。 ・ 注意を持つないかられる。	630	40 2つ
100	art -	3/6/3/ Nilham 34				<b>4</b>	Section 15: Section 15: 15: 15: 15: 15: 15: 15: 15: 15: 15:	iai	5
240	Black	munical	Marin Harris		5/	230	dispositification in	222	)Ù
	Son Jun S.		A Do va		14			175 4	<b>U</b> :
5 00 Z	第二年(1977年) 1980年	<b>《阿西斯斯·西班牙斯</b>	<b>初于在《西京》的</b>	的門面。當等		的觀測的	SUB TOTAL	2,880 0	<b>)</b> ,
\$ 00 } \$2 50 Y	MIGAL/ACID DATA		14.6 12.1 14.6 15mg	2007年1月21年	香香油	<b>多情况的</b> 1000000000000000000000000000000000000	的复数有效的 化甲酰基甲醛		. •
\$ 00 } \$2 \$0 }	MIGAL / ACID DATA	RECE	NED I SER	VICE & EQUIPA	/ENT	KAT%	ON\$		
\$ 00 } \$2 50 Y	MIGAL / ACID DATA	A CAO	A LOS EV. 137 W. Market Laurence	VICE & EQUIPI ERIALS	/ENT		ONS ONS		
\$ 00 } \$2 \$0 }	EMIGAL/7 ACID DATA		A LOS EV. 137 W. Market Laurence	and the second s	AENT.				¥

REPRESENTATIVE CONTRACT

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)



PAGE	CUPT NO	INVOICE DATE
1 of 2	1000719	12/29/2009
	T1770 T 017 1777	40 TID

INVOICE NUMBER

2

1718 - 90207420

Pratt

(620) 672-1201

B CHIEFTAIN OIL COMPANY

PO Box: 124 t KIOWA

KS. US o ATTN: 67070

LOCATION

LEASE NAME

COUNTY

Barber

Sally

STATE

KS

JOB DESCRIPTION

Cement-New Well Casing/Pi

JOB CONTACT

QTY		Net - 30 days	01/28/2010
QTY			
	U of M	UNIT PRICE	INVOICE AMOUNT
1	: .*		
200.00	ËÁ	9.35	1,870.00
30.00	ĒΑ	6.60	198.00
38.00	EA	2.20	83.60
1,038.00	ÉA	0.28	285.45
188.00	ĒΑ	2.83	532.51
149.00	ΕÁ	4.12	614.62
1,000.00	ÉA	0.37	368.50
5.00	ĖΑ	19.25	96.29
500.00	ĒÅ	0.47	236.50
500.00	EA	0.84	420.7
1.00	EA	220.00	220
1.00	EA	198.00	198
7.00	EA	60.50	423.
· 2.00	EÁ	159.50	319.
90.00	MI	3.85	346.
482.00	, Mi	0.88	424.
	30.00 38.00 1,038.00 188.00 149.00 1,000.00 500.00 500.00 1.00 7.00 2.00	38.00 EA 1,038.00 EA 188.00 EA 149.00 EA 1,000.00 EA 5.00 EA 500.00 EA 1.00 EA 1.00 EA 2.00 EA 90.00 MI	30.00 EA 6.60 38.00 EA 2.20 1,038.00 EA 0.28 188.00 EA 2.83 149.00 EA 4.12 1,000.00 EA 0.37 5.00 EA 19.25 500.00 EA 0.47 500.00 EA 0.84 1.00 EA 220.00 1.00 EA 198.00 7.00 EA 60.50 2.00 EA 159.50 90.00 Mil 3.85



PAGE 2 of 2 CUAT NO 1000719 INVOICE DATE

12/29/2009

### INVOICE NUMBER

1718 - 90207420

Pratt

(620) 672-1201

B CHIEFTAIN OIL COMPANY

1 PO Box: 124

L KIOWA

KS US

67070

o ATTN:

LEASE NAME J

Sally 2

LOCATION

Barber

COUNTY STATE

T

JOB DESCRIPTION

Cement-New Well Casing/Pi

JOB CONTACT

<b>јов</b> #	EQUIPMENT #	PURCHASE	ORDÉR NO.		TERMS	DUE DATE
40133737	19905				Net - 30 days	01/28/2010
	· .		QTY	U of M	UNIT PRICE	INVOICE AMOUNT
Proppant and Bulk D Mileage			230.00		ō.77	177.1
Blending & Mixing S Pickup Unit Mileage Charge	e-Pickups, Vans & Cars		45.00	HR	2.34	105.1
Cementing Head w/ Plug container Utiliz	Manifold		1.00	EA	137.50	137.
Pump Charge-Hourl Depth Charge; 5001	У		1.00		1,584.00	1,584.0
Supervisor Service Supervisor			1.00	HR	96.25	96.:
a distribution of the second o	;					
	REC	EIVED				
•		0 2 2010				
•	KCC	WICHITA				
	,					
LEASE REMIT T		OTHER CORRES				

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP PO BOX 841903 BOX 10460 DALLAS, TX 75284-1903 MIDLAND, TX 79702

SUB TOTAL

TAX INVOICE TOTAL

9,033.87



# TREATMENT REPORT

1000	<u>87.5</u>		0 6, 2.1.	<del></del>						<u> </u>				
Customer	e++9,	1/0 01	/	Lease No	).	1.500.11.02				Date				
Lease	SAL		_	Well #	Z	) 				12	- 23 -	09		
Field Order	Statio	"PRA-H	L			Casing	2 0	epth	91	County $BA$	RBER		State	
Type Joh	CNW	51/2	Lows=	3 (1,4			Forma	ation			Legal Des	scription	/	
					USED			TREA	TMENT F	RESUME				
Casing Size	Tubing S	ize Shots/l	ŧ		A	Acid			F	RATE PRE	SS	SS ISIP		
Depths 9/	Depth	From	То		P	re Pad		Î	Max		5 Min.			
Volume	Volume	From	То	,	P	ad			Min			10 Min.		
Max Press	Max Pres	From	То		F	rac			Avg			15 Min.		
Well Oonnecti	on Annulus	Vol. From	То						HHP Used			Annulus Pro	essure	
Plug Depth	Packer D	epth From	То		FI	lush			Gas Volum	e		Total Load	1,	
Customer Re	presentative	·				nager	DAUE	<u> </u>	6cH	Treater	Scent	full	109~	
Service Units	15867	19903	19905			19862					<u> </u>			
Driver Names	Sallivol	men	b/	<i>e</i> .	J.,	negrenu	)	1			<u> </u>			
Time	Casing Pressure	Tubing Pressure	Bbls. Pu	mped		Rate				Serv	ice Log			
2400							01	) /	uc S	afly 1	rietty			
		-						<del>, ,</del>	· · · · ·	<del></del>	· /	<u> </u>	·	
			ļ			<del></del>		U/	1/18	Jr.	5/2/	5.5	-SG,	
							Sho	<u>ن ب</u> ر	J7: 0	20	2 Ccs	- 21	RASLINS	
00-										0 11				
2330			ļ				<u> </u>	<del>7</del>	0N	BOHO	1 ,			
7345	. /		ļ			.,	4/0	<u> </u>	Ry	ISROO	K CIRE			
9435	400	1	12			1.5	121	0.0	1000	71451	<u> </u>			
			1:	3			1 7	124	cert	1/1 21	·			
			3				SPI			111 41.	<u> </u>			
						5,5				200 51	L AH.	2		
<del></del>	,		51				Chur	<u>*                                     </u>	Ja 4741	, WA	54 . Pu	1012.1	) (s	
0515						6	16/0	e i	a Pl	is (V)	le 1	lesi 1	- Andrews	
~~.′	400		68	;		5:5	lit	1	PS,	/		· 7 · · · · · · · · · · · · · · · · · ·		
	550						Ste	(پور	Rete					
2535	2000		116		,	4	Dela	U.C	do	wN				
0545			6				Ola	10	RH		20 sk	14.100	•	
		EIVED							1.	/ _	/ ,			
	!'!N	0 2 2010						f	06 4	o will	te			
		WCL!!T/						/		4	ank	(Land)		
												1000	10 5005	
10244	NE Hiv	vay 61 • F	P.O. Box	8613	• PI	ratt, KS	67124-8	3613	3 • (620)	672-120	)1 • Fax	(620) 67	72-5383	